(k2 B RERIE A 5

________________________

OO EE wEhrHEE
XXEXHAXHMNOXXEXHAXBET

EED %= VER (ENLFR) FrEFEEFIEENEA OO
e teletieteletietelutieteatietelt ’ CEpZ : 1)
3 S%A
e £ E‘t\\\ LT Jl ————— N =
1. ZHa N HERBEICELTE
IEREZREH VIR AERER L DL 10000
B BZmat B : 5000
N / 15000
2. ZWEMEe 0 T
=4 30000
30000
3. ZHh Rk e
= IR R4 100000
100000
4. TN
OOHZEILE 200000
200000
5. F D E
S EUREL 100
MV AR S B . 100
! ) 200
%z P ANEE ZOREIC
T g;&” ; ﬁttjt%fvéi%@% : 345200
B 7 BERIC AR % A2 !
1. F¥EE 2 :
(1) ARy 2= e ’
5 B
R Y 120000
1B 2000
IRNERAA £ 2 6000
fER Ay 2000
130000
(2) \ff#E5E
T OfETY
DRt 5000
Jik#e 22 E 10000
TRAmAE 2 2000
FELFIE 100
F DOREE 17100
FELG 147100
2. EE
(1 AN
1% S 20000
ey SEEE 80000
ETERRR| 1000
IEY ey =g 2000
fER A 1000
N 104000
(2) FOfhixt
it 5000
TR A 5000
TRATG 1 2N 2 5000
= OMRRE G 15000
EELEG oI T ~ 119000
%ﬂq§+ :é%ﬂi&‘ﬁééﬂ%%i (71 | 266100
T8 | AT 24 1 1 K B P 1 i%ﬁ%i@%ﬁi@%?i 79100
N \ 5 \ N \ - KAATER R IR |
b R =EREE LT R L
FT A 1 i i P o ] 5000
YRR E DR U PE AR 9100




